Regents Exam Questions A.REI.A.2: Solving Radicals 2 Name:

WWW.jmap.org

A.REI.A.2: Solving Radicals 2

1 If/x—a =h,x > a, which expression is 7 What is the solution set of the equation
equivalent to X? A 9X+10 =Xx?
1) b’-a {13
2) b’+a 2) {9}
3) b-a 3) {10}
4) b+a 4) {10,-1}
2 If A/ X—4 =7, what is the value of x? 8 What is the solution set of A/ 4X +21 =X?
1) 11 {3}
2) 18 2) {-3,7}
x > 0
49 {3
i Wl;ai;s t_h;: :a};:? of X in the equation 9 The solution set of the equation A/X+3 =3 —X s
1) 46 RIS
2) 12 2) {0}
3) 3 3) {L6}
4) 6 4) {2,3}
4 1If A/2x—1 42 = 5 then X is equal to 10 The solution set of the equation A/ 2X —4 =X -2 is
1 1 1) {-2,-4}
2) 2 2) {2,4}
3) 5 3) 4
b4 4y 4y
5 What is the solution of the equation 11 The solution set of m w47
A2X=3-3=6? ) (3,4
1) 42 ) {431
2) 39
» 3 3 13
D s 4 (-4
6 The solution set of the equation m —xis 12 What is the solution set for the equation
1) {-2,3) A SX+29 =x+3?
2) {2} D {4}
3) 13 2) {5}
4 {} 3) 43

4) {-5,4}



Regents Exam Questions A.REI.A.2: Solving Radicals 2

WWW.jmap.org

13

14

15

16

17

18

19

20

21

22

What is the solution set of the equation

X=2A/2X-37

DR
2) {2}
3) {6}
4) {2,6}

What is the solution set of the equation

y=2+4ly?—1272

DR
2) {2}
3) {44}
4 4

What is the value of X in the equation

~5=2x =3i?

) 1
2) 7
3) -2
4) 4

Solve algebraically for X: 4—/2x—5 =1

Solve algebraically for X:

XX =1 +11X=7x+3

Solve algebraically for X: A/2x+1 +4 =8

Solve algebraically: A/X+5 +1 =X

Solve for all values of ( that satisfy the equation

,\/3 +7 =q+3.
q q

Solve algebraically for x: /3X+1 +1 =X

Solve for x; A/ X+ 18 —2=2
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Name:

1

Solve for X: X - 27

The number of dogs, D, housed at a county animal
shelter is modeled by the function

D =4A/2M + 50, where M is the number of
months the shelter has been open. How many
months will it take for 74 dogs to be housed at the
shelter?

A wrecking ball suspended from a chain is a type of
pendulum. The relationship between the rate of
speed of the ball, R, the mass of the ball, m, the
length of the chain, L, and the force, F, is

R=2rx, / m?L . Determine the force, F, to the

nearest hundredth, when L = 12, m = 50, and
R=0.6.

The period of a pendulum (T), in seconds, is the
length of time it takes for the pendulum to make
one complete swing back and forth. The formula

T=2x % gives the period T for a pendulum of

length L in feet. If you want to build a grandfather
clock with a pendulum that swings back and forth
once every 3 seconds, how long, to the nearest
tenth of a foot, would you make the pendulum?

The lateral surface area of a right circular cone, S, is

represented by the equation s = zrA/ 1> +h?,
where r is the radius of the circular base and h is
the height of the cone. If the lateral surface area of
a large funnel is 236.64 square centimeters and its
radius is 4.75 centimeters, find its height, to the
nearest hundredth of a centimeter.

Meteorologists can determine how long a storm

3
lasts by using the function t(d) = 0.07d * where d
is the diameter of the storm, in miles, and t is the
time, in hours. If the storm lasts 4.75 hours, find its
diameter, to the nearest tenth of a mile.
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ANS: 2
ANS: 4
ANS: 4

REF: 010802b
ANS: 3

REF: 010607b
ANS: 1

2x-3-3=6
2x—-3=19
2x-3=281
2x =84
x=42

L

-

REF: 080602b
ANS: 3

SJr+b=x
x+6=x"

X -x—-6=0

(x=3)(x+2)=0

x=3x=-2

REF: 080104b

REF: 010703b
REF: 011001b

Flotl Flotz Flotz
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. X =-21s an extraneous solution.

ID:



11

ANS: 3
Jox+10 = x
9x+10=x°

x-9x-10=0

(x—-10)(x+ 1D =0
x=10x=-1

REF: 010305b
ANS: 3

NAX+21 =X .

4x +21 = x>
X>—4x-21=0
X=7(x+3)=0
Xx=7

REF: 061018b

ANS: 1
ANS: 2

N2X—4 =x-2

. X=-11s an extraneous solution.

X = =3 1s an extraneous solution.

REF: 061018a2

2X—4 =X —4x+4

0=x>—6x+8

0=(X—-4)(x
x=42

REF: 061406a2
ANS: 3

3X+16 = (x +2)°

3X+ 16 =X +4x +4
0=x>+x-12
0=(X+4)(x—
X=—4 Xx=3

REF: 061121a2

-2)

. —4 is an extraneous solution.

3)

ID:



12 ANS: 1
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5X+29 = (x+3)*

5X+29=x> +6X+9
0=x"+x-20
0=(X+5)(x-4)
X=-5,4

REF: 061213a2
ANS: 4

x=2/2x-73

REF: 060214b
ANS: 4

y=2+m
y-2=y -1z

(y-2)'=»y"-12
YV —dy+d=y*-12
-4y =16

y=4

REF: 060915b
ANS: 2

J5-2x =3
5-2x= %"
5-2x=9(-1)

~2x=-14
x=7

REF: 080302b

. (-5) + 3 shows an extraneous solution.



16 ANS:
7. 4—~2x=-5=1

—J2x-5=-3
2Xx—-5=9
2x =14

X=7

REF: 011229a2
17 ANS:

NXP+x—1 =—4x+3 —4(—] 320

X2+ X—1=16x>-24x+9

W

1
- >
0=15x* —=25x + 10 3—0

0=3x>-5x+2  ~HD+3<0

0=03x-2)x-1) 1 is extraneous
X = %, X#1

REF: 011339a2
18 ANS:

J2x+1=4
2X+1=16
2x =15

15

X=7

REF: 011628a2
19 ANS:

Jr+5+1=x
Jx+5=x-1
x+5=(x-1)?
4. x+5=x"-2x+1. x=-1 is an extraneous solution.
x*=3x-4=0
(x=D(x+1H=0

x=4 x=-1

REF: 010427b
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w=h
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ANS:

\f3'c;_+?=g+3
3 +7=(g+3)°
g +T=q"+6g+9
g +3g+2=0
(g+t2)(g+1)=0
g=-2¢g=-1

-2, -1

REF: 060528b

ANS:
Srrl+1=x
Sr+1=x-1
Ix+1=(x-1?
5. 3x+1=x*-2x+1. x=0is an extraneous solution.
x=5x=10
x(ix—-5 =0
x=0x=5

REF: 060629b

ANS:
Jx+18-2=2
) Jx+18 =4
x+18=16
x=-2
REF: 010921b
ANS:
27° = 19,683

REF: 061023b
ANS:

74 = 4./234 +50
24 = 42 M

18. 6=A/2M
36=2M
18=M

REF: 080821b

Inkerseckion ,

=k

ID:



REF: 010323b
26 ANS:

3=2xw i
32

REF: fall9923b

27 ANS:
s =rdr +h*

236.64 = 4.75m-/4.75% + i*

2608 _ Ja7st i

475
236.64

4757
228 91 = i*
k%1513

( )? =4.75% + i

REF: 080528b

ID:



28 ANS:
3
2

475=007d

21475
“ 007
3 2 2
223 4752
dl 3 = 3
(d?) (0.0?)

d =3 (ﬁ
0.07

B3] Ly

16.6.

¥~ 166

REF: 080325b

ID:



